Equity in Athletics Disclosure Act (EADA) Report

July 1, 2018 - June 30, 2019

MIAMI UNIVERSITY

Undergraduates by Gender:

Gender	Total Undergraduates	Percentage
Male	8,245	50%
Female	8,245	50%
Total	16,490	100%

Participation Counts

2019 Athletics Participation

Sport	# on Men's Teams	# on Women's Teams	# on a Second Team (Men's Teams)	# on a Second Team (Women's Team	# on a Third Team (Women's Teams)
Baseball	36				
Basketball	15	14			
Cross Country	28	23	28	22	22
Field Hockey		32			
Football	115				
Golf	9				
Ice Hockey	31				
Soccer		29			
Softball		20			
Swimming and Diving	32	40			
Tennis		8			
Track, Indoor		53		22	22
Track, Outdoor	58	55	28	53	22
Volleyball		18			
Others		41			
TOTAL PARTICIPANTS	324	333	56	97	66
Percentage of Participants	49.3%	50.7%			
Unduplicated Count of Participants	296	258	TICIDANTO - 554		

TOTAL PARTICIPANTS = 554

Operating (Game-Day) Expenses - Men's and Women's Teams by Team

Operating expenses are all expenses an institution incurs attributable to home, away, and neutral-site intercollegiate athletic contests (commonly known as "game-day expenses"), for (A) Lodging, meals, transportation, uniforms, and equipment for coaches, team members, support staff (including, but not limited to team managers and trainers), and others; and (B) Officials.

Men's Teams

Varsity Teams	Participants	Operating Expenses per Participant	By Team
Basketball	15	25,837	387,561
Football	115	10,741	1,235,268
Baseball	36	5,713	205,662
Field Hockey			
Golf	9	13,099	117,887
Ice Hockey	31	18,942	587,212
Soccer			
Softball			
Swimming and Diving	32	1,817	58,142
(combined)			
Tennis			
Track and Field and Cross	86	1,245	107,030
Country (combined)			
Volleyball			
Other Sports			
Total Operating Expenses of Men's Teams	324		2,698,762

Women's Teams

Varsity Teams	Participants	Operating Expenses per Participant	By Team
Basketball	23	13,598	312,754
Football			
Baseball			
Field Hockey	32	6,507	208,231
Golf			
Ice Hockey			
Soccer	29	2,815	81,647
Softball	20	7,318	146,357
Swimming and Diving (combined)	40	1,761	70,441
Tennis	8	9,418	75,342
Track and Field and Cross Country (Combined)	131	948	124,233
Volleyball	25	5,175	129,378
Other Sports	41	6,763	277,266
Total Operating Expenses of Women's Teams	349		1,425,649

Total Operating Expenses for Men's and Women's Teams

Sport	Expenses
Basketball	700,315
Football	1,235,268
Baseball	205,662
Field Hockey	208,231
Golf	117,887
Ice Hockey	587,212
Soccer	81,647
Softball	146,357
Swimming and Diving (combined)	128,583
Tennis	75,342
Track and Field and Cross Country (combined)	231,263
Volleyball	129,378
Other Sports	277,266
Total Operating Expenses Men's and Women's Teams	4,124,411

Revenue and Expenses

	Football	Men's Basketball	Other Men's Sports	Women's Basketball	Other Women's Sports	Not Allocated by Gender/Sport	All Sports
2019 Revenue	\$9,272,010	\$2,234,349	\$5,983,481	\$1,675,889	\$7,665,421	\$11,883,528	\$38,714,678
Total for Men's, Football, Basketball and Other Sports	\$17,489,840						
Total for Women's Basketball and Other Sports				\$9,341,310			
2018 Expenses	\$9,272,010	\$2,234,349	\$5,983,481	\$1,675,889	\$7,665,421	\$11,883,528	\$38,714,678

Head Coaches - Men's Teams (Male Head Coaches)

Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer
Baseball	1		1	
Basketball	1		1	
Football	1		1	
Golf	1		1	
Ice Hockey	1		1	
Swimming and Diving (combined)				
Track and Field and Cross Country (combined)		1	1	
Coaching Position Totals	5	1	6	0

Head Coaches - Men's Teams (Female Head Coaches)

Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer
Baseball				
Basketball				
Football				
Golf				
Ice Hockey				
Swimming and Diving (combined)		1	1	
Track and Field and Cross Country (combined)				
Coaching Position Totals	0	1	1	0

Head Coaches – Men's Team, Male & Female Coaches

Sport	Coaches
Baseball	1
Basketball	1
Football	1
Golf	1
Ice Hockey	1
Swimming and Diving (combined)	1
Track and Field and Cross Country (combined)	1
Coaching Position Totals	7

CAVEAT: The Track/CC and Swim/Dive coaches are listed as part-time for both men's and women's but are full-time employees.

Head Coaches' Salaries - Men's and Women's Teams

	Men's Teams	Women's Teams
Average Annual Institutional Salary per Head Coaching position (for coaching duties only)	237,706	108,686
Number of Head Coaching Positions Used to Calculate the Average	7	9
Number of Volunteer Head Coaching Positions		
Average Annual Institutional Salary per Full-time equivalent (FTE)	277,324	122,272
Sum of Full-Time Equivalent (FTE) Positions Used to Calculate the Average	6.00	8.00

CAVEAT: Ice Hockey and Women's Basketball had overlaps in head coaches this year.

Head Coaches – Women's Teams (Male Head Coaches)

Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer
Basketball				
Field Hockey	1		1	
Soccer				
Softball				
Swimming and Diving (combined)				
Tennis	1		1	
Track and Field and Cross Country (combined)		1	1	
Volleyball				
Other Sports				
Coaching Position Totals	2	1	3	0

Head Coaches - Women's Teams (Female Head Coaches)

Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer
Basketball	1		1	
Field Hockey				
Soccer	1		1	
Softball	1		1	
Swimming and Diving (combined)		1	1	
Tennis				
Track and Field and Cross Country (combined)				
Volleyball	1		1	
Other Sports	1		1	
Coaching Position Totals	5	1	6	0

CAVEAT: The Track/CC and Swim/Dive coaches are listed part-time for both men's and women's but are full-time employees.

Total Head Coaches – Women's Teams (Male and Female Head Coaches)

Sports	Coaches
Basketball	1
Field Hockey	1
Soccer	1
Softball	1
Swimming and Diving (combined)	1
Tennis	1
Track and Field and Cross Country (combined)	1
Volleyball	1
Other Sports	1
Coaching Position Totals	9

Assistant Coaches – Men's Teams (Male Assistant Coaches)

Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer
Baseball	2	1	2	1
Basketball	3		3	
Football	10		10	
Golf				
Ice Hockey	2		2	
Swimming and Diving (combined)		5	4	1
Track and Field and Cross Country (combined)		4	3	1
Coaching Position Totals	17	10	24	3

Assistant Coaches – Men's Teams (Female Assistant Coaches)

Varsity Teams	Assigned to Team-on- a Full-Time Basis	Assigned to Team-on- a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer
Baseball				
Basketball				
Football				
Golf				
Ice Hockey				
Swimming and Diving (combined)				
Track and Field and Cross Country (combined)		1	1	
Coaching Position Totals	0	1	1	0

Caveat: Track/CC as well as Swim/Dive are combined programs, thus all coaches are listed for men's & women's as part-time for each but are full-time employees.

Total Assistant Coaches- Men's Teams (Male & Female Assistant Coaches)

Sports	Coaches
Baseball	3
Basketball	3
Football	10
Golf	0
Ice Hockey	2
Swimming and Diving (combined)	5
Track and Field and Cross Country	5
(combined)	
Coaching Position Totals	28

Assistant Coaches' Salaries - Men's and Women's Teams

	Men's Teams	Women's Teams
Average Annual Institutional Salary per Assistant Coaching	79,495	45,828
Position (for coaching duties only)		
Number of Assistant Coaching Positions Used to Calculate	25	21
the Average		
Number of Volunteer Assistant Coaching Positions	3	2
Average Annual Institutional Salary per Full-time equivalent	94,637	56,611
(FTE)		
Sum of Full-Time Equivalent (FTE) Positions Used to	21.00	17.00
Calculate the Average		

Assistant Coaches – Women's Teams (Male Assistant Coaches)

Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer
Basketball	1		1	
Field Hockey	1	1	1	1
Soccer	1		1	
Softball				
Swimming and Diving (combined)		5	4	1
Tennis				
Track and Field and Cross Country (combined)		4	3	1
Volleyball	1		1	
Other Sports				
Coaching Position Totals	4	10	11	3

Assistant Coaches – Women's Teams (Female Assistant Coaches)

Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer
Basketball	2		2	
Field Hockey	1		1	
Soccer	1		1	
Softball	2		2	
Swimming and Diving (combined)				
Tennis	1		1	
Track and Field and Cross Country (combined)		1	1	
Volleyball	1		1	
Other Sports	1		1	
Coaching Position Totals	9	1	10	

Total Assistant Coaches- Women's Teams (Male & Female Coaches)

Sports	Coaches
Basketball	3
Field Hockey	3
Soccer	2
Softball	2
Swimming and Diving (combined)	5
Tennis	1
Track and Field and Cross Country (combined)	5
Volleyball	2
Other Sports	1
Coaching Position Totals	24

Athletically Related Student Aid – Men's and Women's Teams

Athletically related student aid is any scholarship, grant, or other form of financial assistance, offered by an institution, the terms of which require the recipient to participate in a program of intercollegiate athletics at the institution. Other student aid, of which a student-athlete simply happens to be the recipient, is not athletically related student aid.

	Men's Teams	Women's Teams	Total
Amount of Aid	7,603,559	4,652,353	12,255,912
Ratio (percent)	62	38	100%

Recruiting Expenses – Men's and Women's Teams

Recruiting expenses are all expenses an institution incurs attributable to recruiting activities. This includes, but is not limited to, expenses for lodging, meals, telephone use, and transportation (including vehicles used for recruiting purposes) for both recruits and personnel engaged in recruiting, and other expenses for official and unofficial visits, and all other expenses related to recruiting.

	Men's Teams	Women's Teams	Total
Total	935,520	305,677	1,241,197